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QUESTION 1

In order for a company to meet regulatory requirements, all ESXi 6.x Hosts must be configured to direct logs to a syslog
server. 

What are two ways ESXi hosts can configured for this action? (Choose two) 

A. Use the esxcli system syslog command. 

B. Edit them in the ESXi host Advanced System Settings. 

C. From the Syslog collector user interface of the Web Client. 

D. Syslog logging is not available for ESXi Hosts. 

Correct Answer: AB 

To direct logs to a syslog server, uses esxcli system syslog command and edit them in the ESXi host 

advanced system settings. 

Reference: https://kb.vmware.com/selfservice/microsites/search.do? 

language=en_USandcmd=displayKCandexternalId=2003322 

 

QUESTION 2

Refer to the Exhibit. 

An administrator is analyzing a virtual machine as shown in the Exhibit. What is the current long term risk for this virtual
machine? 

A. The virtual machine may run out of memory before April 27. 

B. The virtual machine may continue to function after April 27. 

C. The virtual machine has adequate memory configured for operation for the next 120 days. 

D. The virtual machine has adequate memory reservation configured for operation for the next 120 days. 
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Correct Answer: A 

It seems like this virtual machine will run out of memory before April 27 as the graph dips down in the beginning of the
image in exhibit. 

 

QUESTION 3

By default, each ESXi 6.x host is provisioned with a certificate from which root certificate authority? 

A. RedHat Certificate Authority 

B. VMware Certificate Authority 

C. DigiCert Certificate Authority 

D. Verisign Certificate Authority 

Correct Answer: B 

In vSphere 6.0 and later, the VMware Certificate Authority (VMCA) provisions your environment with certificates. This
includes machine SSL certificates for secure connections, solution user certificates for authentication to vCenter Single
Sign-On, and certificates for ESX hosts that are added to vCenter Server. Reference
https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.security.doc% 2FGUID-3AF7757E-
A30E-4EEC-8A41-28DA72102520.html 

 

QUESTION 4

Which two components can be used when configuring Enhanced Linked Mode? (Choose two.) 

A. vCenter Server Appliance 

B. vRealize Operations Manager 

C. vSphere Management Appliance 

D. vCenter Server for Windows 

Correct Answer: AD 

With Enhanced Linked Mode, you can connect not only vCenter Server systems running on Windows but also many
vCenter Server Appliances. You can also have an environment where multiple vCenter Server systems and vCenter
Server Appliances are linked together. Reference:
https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.install.doc%
2FGUID-91EF7282-C45A-4E48-ADB0-5A4230A91FF2.html 

 

QUESTION 5

What are two benefits of using NFS 4.1 with vSphere 6.x as compared to NFS 3? (Choose two.) 

A. NFS 4.1 supports Kerberos Authentication 
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B. NFS 4.1 supports multipathing 

C. NFS 4.1 supports IPv6 

D. NFS 4.1 supports hardware acceleration 

Correct Answer: AB 

NFs 4.1 support kerberos authentication and multipathing. 

Reference: http://searchvmware.techtarget.com/answer/What-are-the-implications-of-NFS-41-in-vSphere-6 
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